30.12.2023 FIRE OPERATOR CUM DRIVER HSSC EXOM

% CG - FO23

1. CO 18 than air. 1. E(}H_Eﬁﬁ <l qer H —-% l
(A) lighter (A) &e=hl
(B) equal (B) ==
(C) heavier _,(ermfl F:;;F]
[D ) lesser (D) H e
(E} Not attempted (E) v
2. What is the colour of LPG ? 2. LPG &I U1 &1 BT & 7
(A) Blue ) e
(B) Red (B) ©Te
(C) Colourless ;
(D) Light red (D) goehl el
(E] Not attempted (E) EERIEE
3. can be used in flammable 3. 1 ITM SHEIE FTarTE o
atmosphere. TR =11 "ehell %I
(A) Electrical lamps (A) fereedt & o
(B) Safety lamps _AB) TEn o
(C) Hurricane lamps (C) g% cil
(D) Portable electric box lamp (D) WdEe Seifaes a1y o7
(E) Not attempted (E) 3T
4. Fire involving in combustible solid 4. SEEEE S 0 Wit 3 w5
classified under ______ fire. 3T % TEa Shisha fohat T )
(A) Class A /m}/ Tl A
(B) Class K (B) @ K
(C) Class B () = B
(D) Class D (D) = D
(E) Not attempted (E) JT9amiiyg
5. Which stinging agent is added to LPG? | 5. LPG ¥ #-w fRfim ©ie femr s 2 7
(A) Mercaptan (A) Tehte
(B] Ketones f";-i[] (B) Fie
©) Musky B (C) wwehl
\ (D) Floral (D) e
) (E) Not atternpled (1) 3rsnfE
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are generally used for 6. _ o I0ANT 3MHAR T ﬁam
delivering water. % ﬁ'*l"i{ e i %I
(A) Percolating hose (A) Teh dTell B
(B) Suction hose __{B) HEH B
(C) Non-percolating hose (C) TR—zaeh aTett B
(D) Unlined hose (D) sftag B
(E) Not attempted (E) Twmfem

High velocity system used for extinction
of fires in flammable liquids having a

7. SHEAYC W ST | S g5 %

o 1 WiTett w1 39 R s 2 e
fHash pﬂlﬂt above m ﬁg ﬁ IR ‘E?r(:[? %|
(A} 65°C () 65°C
(B) 75°C (B) 75°C
(C) 100°C i )9)/1’60**(:
(D) 90°C %%ﬁﬁ (D) 90°C
(E) Not attempted (E) 3Tt

The three principles of extinguishment
in the high velocity water spray projector
systems are emulsification, cooling

8. T A el W VISR Yoed § 31 g9
% @ Tugia woeHiiFsem, sie 3R

and gl

(A) exposure (4) LSRR

(B) prevention (B) eI

(C) extinction Lj@/ﬁﬁq BT

(D) dilution (D) SiEeEH

(E) Not attempted (E) 3Tyt

Approach suit provide heat protection 9 WHEZ__ wmowmdia T WeM

upto ERGI

(A) 93°C i 93°C

(B) 260°C (B) 260°C

(C) 65°C (C] 65°C

(D) 100°C (D) 100°C

(E) Not attempted (E) 375yt
-3-
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10.

11.

12.

13.

14.

How do you copy a string in C Program ?
(A) Using the = operator
(B) Using the streat() function

(C) Using the strepy() function

. (D) Using the strnepy() function

(E) Not attempted

Inthe CO,extinguisher, CO, is retained
in a liquid condition at about

bars pressure.

(A) 25

(B) 51 v

(C) 41

(D) 61 @%ﬂ
(E) Not attempted R

The diameter of the hose reel is normally
(A) 10 mm (B) 19 mm

(C) 36 mm (D) 50 mm

(E) Not attempted

The Human Development Report is
published annually by

(A) IMF

(B) IBRD

(C) UNDP

(D) UNESCO

(E} Not attempted

dy l+y

The integrating factor of —+y = —=is
dx X
EH
A % @/__
bt -
(C) xe!/2 (D) pry

(E} Not attempted

CG - FO23

10. C gmm 4 el 7o 1 =0t 8 6
Eli A
(A) = 3T HT ITGIT Fh
(B} strcat() HHA I ITAN Fleh
_{€) strepy() WM T YA Fh
(D) strncpy() FFEH T ITM Hoh

(B} 3ToEmfya

11. CO, A AHF ¥ CO, T EL
TETE ohi Al AT H &+ Tl 2 |
(A) 25
(B) 51
e 41
(D) 61
(E) o

12. & i %1 =9 A= 8 m

{A) 10 mm (8] 19 mm
(C) 36 mm D) 50 mm

(E) 3rwarfem

E‘r

13. wFE fem ol s g wied v
I Sl 7 7
(A) HTETHTS
(B) g
(C) Fuagidt

/LBT?—'B@

(E) twarfem

14. j—i+y=”3’%mﬁmw%
X

(A) xe* (B) %
(C) xe!/2 (D) é’"—
(E) 31w

D
d:uf} -r(!ﬂtj . dat2c i

pa
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5. Who was the First President of United
States ? ;
(A) Thomas Jefferson
(B) George Washington
(C) Truman
(D) None of the above
(E) Not attempted

is a lowest temperature
at which a material will emit vapor
combustible in air mixture.

(A) Flash over

(C) Flash point
(E) Not attempted

(B) Fire point
(D) Flash up

1'7. Which of the following are non-

flammable gases ?
(A) C,H,, CH,

- I

(B} H G H

4710

(C) CO,, 80, N,
(D) C,H,, CH,

2t g

(E) Not attempted

o
EJ’ E

18. Fittings used for joining two lengths of

hose together or to an apparatus are
called as

(A) Couplings (B) Diffuser
(C) Branch pipe (D) Nozzles

(E) Not attempted

19. The Code of Practice for fire safety of

buildings exit réquirement as laid down
in the

(A) IS-1644 : 1988

(B) IS-1654 : 1988

(C) I8-1532 : 1990

(D) IS-1650 : 1988

(E} Not attempted

CG - F023

15. Y U9 SWEh & Tect Tegafe i &
(A) ITHY SHEA
By i1 A
() g
(D) 39 § § &% A8
(E) A91fEa

_ uw Tem qmEe R e o s
vered ga1 % fhygv § soeEsier G &
It HET R |

(A) FetsT 3T

Oy AT |
(B) 3rvamfae

17. Tr=fafea 4 & $-d -sgamsia
THE e
(A) C,H,, CH,
!E} HZ-" C4Hlﬂl
A€y CO,, 50, N,
(D) CH,, CH,

R

) st .

18. T TS F B I U WY AT TR ITFT-
¥ Sie % fore geomer i S St [

16.

(B) i fog
(D) AT 319

19.

(A) I5-1644 :

JB]/IS-lﬁﬁél- -
(C) I1S-1532 :
(D) 18-1650 ;
(&) Frsrnfd
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20.

21.

22.

suit helps the fireman to
work very close to the lames.
(A) Proximity suit
(B) Entry suit
(C) Approach suit
(D) Jacket suit
(E) Not attempted

In

change into solid state.

(A) 100 (B) S
(C) O (D) 2
(E} Not attempted

In SQL (Structured Query Language),
refers to differences within the
group or set of data of a variable.

: (A) Range

23.

24.

' (B) ‘Agcuracy

(C) Standard deviation
(D) Validation

(E) Not attempted “{%
- BRI

Saraswati Wildlife Sanctuary is
situated in

(A) Kurukshetra
(B) Hisar

(C) Karnal

(D) Kaithal

(E) Not attempted

district of Haryana.

Find the odd man out,
(A) 4774

(B) 363

(C) 4174

(D) 3773

(E) Not attempted

degree celsius, water

CG - FO23

20.

aﬁﬁﬁﬁawaﬂﬁwwaﬂmél

a1: faft afcams ¥ urft S sFen §
ECG sG]

(A) 100

(B} 5
D) 2

SQL (R w=arl o) #  fpef
= F TR M ST F A2 F iR HR Hl
Haﬁ‘-hm:h
(A) =
(B) WIhal
ey A e
(D) HedT
(E) A9a1Ed

gfEm * ot & weadt wem
feE g |

() pear

(B) feam-

- [C) =BT

(D) el -

(E) ST

24) o= fug s i)
(A) 4774
(B) 363

(C T4 P
~’6}/§?3 f”." \

(E)

o

uﬁ'
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29.

A buildings in height shall
be considered as high rise buildings.
(A) 15 m or above
(B) Below 15 m
(C) 14 m

(D) 12 m

(E} Not attempted

o

i
*,
i)

Pt
ey

Bl g

The maximum size of the gas cartridge

is gram for a 9 litre
water extinguisher.

(A) 10 (B) 120

(C) 60 (D) 180

(E) Not attempted

Which among the following is toxic gas ?
(A) Argon

(B) Sulphur dioxide

(C) Helium

(D) Carbon dioxide

(E) Not attempted

knot used as sling to lower
Unconscious persons.
(A) Bowline (B) Reef knot
(C) Half hitch (D) Chair knot
(E) Not attempted

The heat which is absorbed during

change of state from solid to liquid is
called

[A) Liquefied stage
(B) Inhibition

(C) Fire suppression
(D) Latent heat

(E) Not attempted

CG - F023

25. ISR A US NG Wl 4 W
% &9 o THET SO |
] 15 m 91 398 IR
(B) 15 m & =
(C) 14 m
(D) 12 m
(E) 3rvamiag

9 e TTe UfReiyr 3 forg g 1fed 1
T IR e 2 |

(A) 10

(C) 60

(E) 3Tvanfe

27. Ffifen § & wn-o) seteh Ao 2 7
(A) AT
NB] HUR TR TaTES
(C) Biferam %
(D) HTEH Er33rTaaTEe
() st S

26.

VHB’J/WU 2
(D) 180

e w1 T Ay st B A L
i & Tou fEm & =g o fopam star
(A) W3 (B) {% T
Jor T e (D) = i
(E) F9=nfad

28.

b g

00, BT H srer uREda B AT S IS
aifya gt 8, 38 el ST &

(A) FETT =T

(B) THE

(C) AT EHA
uﬁ{] 3egdd HEA]

(E) 3w

SO
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30.

31.

32.

33.

34,

Industrial buildings of low and moderate
hazard are permitted only upto _

height.
(A) 18 m (B) 20 m
(C) 25 m D) 22 m

(E) Not attempted

type extinguishers provide its
own pressure for discharge from the
storage container.

(A) Water
(C) DCP
(E) Not attempted

(B) Foam
(D) CO,

In method crews construct a
fireline at some distance from the edge
of the fire.

(A) Prescribed burn
(B) Pre-fire planning
(C} Penciling

(D) Parallel attack
(E) Not attempted

&
Ly
e

What does E-R stands for in the E-R
model of database design ?

(A) Entity-Relationship

(B) Error-Resclution

(C) Event-Response

(D) Efficiency-Robustness

(E) Not attempted

Identify the reaction order of the
following rate constant.
k=2,3x107° L mol 151,

(A) Second order

(B) Zero order

(C) First order

(D) Third order

(E) Not attempted

|

CG - FO23
T gy -
W had _ Serd a% @l sl
o g
MN&18m (B) 20 m
[Z) 25.m 22 m
(E) 3TETHa
31. Y o T SR e
¥ FdET & foTu 3791 2919 YeH #d B |
(A) (B) ®I
(C}) DCP 4By co,
(E) 39T
32, fafy 4 wffee o % e @ 30
&t ot e 1 e =5 P e E
(&) Tt sen
(B) 46 A From
(C) dfafem
(D] YU 3w
(E) 3mwanfam
33. SEd T8 % E-Rufest § E-R & 51
A4 R 7
iayifefe-ficiarfim
(B) - ORD)
(C) Te-wiry e
(D) UiRfR-Taeg
(E) 2T5ETTEm
34)) frertea o R @ s 5 A
TEEH H |
k = 2.3x10°5 L mol-ls1.
A Bfmwn WS
(B) [ 59 P
{2y T Y 9.3 %10
(D) et 55
(E) 3rsanfia

8.
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For what purpose are antipyretic 35. tufgEies et & war g #1 %
medicines used ? Toru fepar ST @ 7

(A) Medicines for blood cancer (A) T 9 % U ga1u

(B) Medicines reduces fever (B) m FER FH T %

(C) Medicines for body relief W ! TEd &4 grelt eaid

(D) None of these (D) 8 ° %13 78

(E) Not attempted (E) A9aTfee

Latent heat is measured in 36. ¥Fd TS & T Hq7 AT @ |

(A) Ampere (A) Tt

(B) Meter (B) T

(C) Grams (C) I™H

(D) Joules per unit mass MEE’J]/GEI wfa {E{E HAH

(E) Not attempted (E) S

In systemintermediatepumps | 37. __ TRy # mﬂﬁf@@ 97 aTqﬁf

are arranged to be kept between the 9 I AT % w9 a1 sgeer &

supply pump and the fire. S &

(A) open circuit (A) N mike

(B} closed circuit ,JBT?@E wfEe

(C) truck relay () 7 T

(D) turn table relay (D) & Tae |

(E) Not attempted (E) FaTiéa

The color code for 93°C bulb type 38. 93°C wed 2rgd feigmer & forg er Hig

sprinkler is R

(A) Orange (B) Green (A) AR © (B) &0 %

(C) Red (D) Yellow ‘JQ)/ GG (D) et 6l

(E) Not attempted (B) S

Expand NBC. 39. NBC (THait) = faeam =i

(A) National Bureau Code ){ﬁw = hig

(B) New Business Code (B) = ferta wig

(C) Natural Bacterial Concentration (C) é@(ﬁ CETAItO ] W & 1

(D) National Building Code (D). Fem fafegn e EIRE: 3

(E) Not attempted (E) STsmiaE e
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41.

B

42.

43.

44.

Which of the safety requirement is not
correct in the event of total flooding ?

(A) Provide adequate lighting with
directional signs

(B} Warningsignsshould be positioned
inside of the protected area

(C) The alarms should activate a few
minutes before the operation

(D) CO, installed in explosive areas
should be provided with metal
nozzles

(E) Not attemnpted

E e

Uliraviolet detectors work with
wavelengths shorter than

(A) 100 (B) 50

(C) 200 (D) 300

(E) Not attempted |

A is a device that connects two
LANs or two segments of the same LAN.
(A) Hub (B) Switch

(C) Router (D) Bridge

(E) Not attempted

Haryana government notified Punjabi
as the State’s second language in

(A) 1947 (B) 1968

() 1966 (D) 2010

(E) Not attempted

When is the World Homeopathy Day
observed ?

(A) March 11
(C) March 10
(E) Not attempted

(B) April 11
(D) April 10

-10-

CG - FO23

40. 1 o1 <t feurfa o - guam avasman
HE T @ ?
(&) Tesmares dehdl & @Y qATd T

LT il
(B) =IdTeHT Heba wlféra &5 % A T
g1 =fey
(C) A & $o fore yget s @l
&l ST =TeY
Dy et &t & @i co, #1 wg
% Aol & |14 Ve R S =ifen
(E) Irs=miEa
41, YEH] fedge nm © A
OIS 3 |1 HH B B |
100 (B) 50
(C) 200 (D) 300
(|) S
42. _ U IR I & o (LAN) I
T & o (LAN) % 2 Wi =) Sea 2 |
\A) (B) &
(C) & (D) sfigr BB
[E}m [
43, BT R Y Yenet ) gew A fdd
TS % w9 A aAftgf o T
(A) 1947 (B) 1968
(C) 1966 By 2010
(&) e
@E) v Dftritel e e s o 2 7
< 1 (B) 11 30
(C) 10 A= (D) 10 A=
(E) STt
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B

6.

7.

48.

Foam is produced by mixing foam
concentrate with

(D) Oils
(E) Not attempted

Which of the following pairs of physical
quantities may be represented in the
same unit ?

(A) Heat and temperature
(B) Heat and work

(C) Temperature and mole
(D) Specific heat and heat
(E) Not attempted

Flame cutting equipment work with
the combination of acetylene gases
and

(A) Oxygen

(B) Oil

(C) Fluids

(D) Water

(E) Not attempted

Asper TACwater storage recommended

for ordinary hazard industry is

(A) Not less than 1 hour aggregate
pumping capacity

(B) Not less than 3 hours aggregate
PUmping capacity

(C) Not less than 2 hours aggregate
PuImping capacity

(D) Not less than 4 hours aggregate
pumping capacity

(E) Not attempted

«11-

CG - F023

45. B 1 IeGH BN HIHGE HI___F
w1 et femar smar 21
IO,
(B) WT3sT
(C) T
(D) &
(E) 3Toame

46, Frafafias § 9 Wifgs qenadl =1 FHE-91
T TH ShIE H eiAr S @bl & 7
_AA] T 3R A
(B) S 3R
(C) TTHEH S Gt
(D) Taf¥rz ey 37t s
(E) i

47. T FHE o whfef i s
% UM ¥ Oy % B A
AR ST
(B) a4
(C) &d Qi)
(D) e

(E) 3Tsanfas

TAC ¥ IR, Ty e a1t savd 3

fere s vero 6 R 6
Sl & |

(A) 1 R SR < & Tl
9"'3 He § W 3nfiRr dfin s Td
(C) 2 ¢ A wn 3yl dfifn & T

(1) 4 °2 A ek afeye it gear g

(1) syeanida

c
K/ .
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49, Which of the following is active fire

protection system ?

(A) Fire resistance rated walls and
floors

(B] Manual or automatic fire
detection

(C) Minimizing ignition sources

(D) Emergency evacuations

(E) Not attempted

50. Maratha ruler Tantia Tope had built a

fort at this place of Haryana
(A) Mahendragarh

(B) Narwana

(C) Bhiwani

(D) Jind

(E) Not attempted

51. The simplified form of

BN it L g ned o S 4g
Hif (A) O (B) -1
P C) 1 (D] i

(E) Not attempted

52. In SQL (Structured Query Language)
is simply the average of

numeric values of an attribute.
(A) Mode

(B) Median —

(C) Mean
(D) None of the above
(E) Not attempted

53. CABA stands for
Compressed Air Breathing
Apparatus
(B) Compelled Air Breathing .
Apparatus
(C) Compared Air Breathing
Apparatus

(D) Compelled Air Blood Apparatus

(E) Not attempted

(e

CG - FO23

49, fr=fafaa § @ wm-a1 afFa AE @

T 2 7

(A) 0T Sferie e Sy 37w
%’? e a1 Tenferd AT T 941 T
B () 3fhvE |t 1

(D) FATAHTer Fregmmor

(E] AT

50. HUST ES 9ed] 2 = g & 59 wm

B1. it+in*14in*24 jn+ 35T TEHd ¥ 3
(A) O (B) =1 (1™

A 1 T
(E) 3o
52. SQL¥ (WFwg e dia) Th
Tersha aer HeaTenes T o 3iEa & |
(A)
iR
(C) AT
(D) 3w & | 7
(E) T5aniya

53. CABA % 31 8
(A) FHIGE T3 St
(B) FHITES U3w sfifi vitem
(C) HHYSTE U siifi dftea
(D) IS U3R s7g Ve
(E) 3ToarRe
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5>S.

56.

57.

58,

What is the temperature of orange
colour bulb type sprinklers ?

(A) 57°C (B) 79°C

(C) 68°C (D) 93°C

(E) Not attempted

Normal body temperature of human
body is

(A) 39°C
(C3) 35°C
(E) Not attempted

(B) 37°C
(D) 38°C

The energy possessed due to the

motion of an object is called Ok
s

(A) Potential energy R,

(B) Kinetic energy

(C) Thermal energy

(D) Power

(E) Not attempted

Water boils at at atmospherie

pressure,
(A) 0°C (B) 35°C
(C) 86°C (D) 100°C

(E) Not attempted

Water spray cannot be used on
fire.
(A) Class A

(B) Combustible solids
(C) Wood, paper

(D) Class C

(E) Not attempted

-13-
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54, T U1 % Fod 2Ry fEIHeR 1 AHA
fec gran 2 7
(A) 57°C /LBI 79°C
(C) 68°C (D) 93°C
(E) A5arii

55. HHg YR = W IAE 999

_ EarE|
(Bf 37°C

(A) 39°C
(€) 35°C (D) 38°C

(E) AgamfE

56.

forelt =g 1 TRy & o B aelt I @
F8 AT B

(A) wTfeE i

By et it

(C) wTdta F=i

(D) wife

57, UHI
(A) 0°C
(C) 86°C
(E) -Fdafig

AgHEety g 9 Iaer 2
(B) 35°C

__(By100°C

58. WH % T F7 wep AT T TR
fema =11 ey 2
(A) T A
(B) g Sy
(C) TS, FrTs
Culle

(E) 3T

R
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59.

60.

62.

63.

Which of the following is not a method
of heat transmission ?

(A) Radiation
(B) Conduction
(C) Convection

(D) Explosion
(E) Not attempted

In the deluge systems
sprinklers installed.
(A) closed

(B) pressure

— typeof

[C) open
(D) plastic
(E) Not attempted

What is the primary advantage of
parallel processing ?

(A) Reduced power consumption
(B) Increased processing speed

(C) Lower cost

(D) Improved software compatibility
(E) Not attempted

According to the 2011 census report,
which State recorded highest density
of population in India ?

(A} West Bengal

(B) Uttar Pradesh

(C) Bihar

(D) Kerala

(E) Not attempted

What will come in the place of question
mark ?

W - 144,?,8-100, Q- 81, 0 - 64
(A) U-121 (B) Vv-121
(C) U-122 (D) V- 128

(E) Not attempted

-14-
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5
[a]s35E:
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59, Tr=fdfag #§ § -9 S =10 %
iRt T8 & 7
{ﬁ]ﬁﬁm
%ﬁq{m
T (0) s
D) fewre
(E) A9

60. g womfeEt |
M Y F |
(A) = fepem g
(B) &=19
(C) Eel
- (P) iR
(E) ST9amiaa

TR & fEaer

Yieer TafEm & mgihs ey = g ?
_{ayn feredt <61 @

(B) wrEfémr i wfa 3 gig

(C) A T

(D) Fad HFSTL T

(E) Fwana

61.

2,) 2011 = FFOHET ROE % FEX 97a |
TEiTae S T I 059 HH-T1 8 ?
(A) Tfim s

.,.F{B}'Wﬂ%ﬂ
() fomm—
(D)
(E) FwaTRd

63. ¥ U8 & W W iy 3w ?
W -144,?,8-100,Q-81, 0 -64

(ar0-121 . (B) V-121
(C) U-122 (D) V- 128
(E) STomidyd

L L
Iy w v R ol e,

a4 33 _:" A o™
& B
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64.

65.

66.

67.

In the Manual fire alarm system, which
of the following is manual system of
raising alarm ?

(A) Rotary gongs

(B) Sprinklers

(C) Detectors

(D} Fire suppression
(E) Not attempted

is the transfer of heat by
moving particles of liquids or gases.

(A) Conduction
(B) Convection
(C) Uninhibition
(D) Inhibition

(E) Not attempted

As per National Building Code of India

buildings are categorized under

Group H of occupancy.
(A) Educational

(B) Storage

(C) Industrial

(D) Residential %ﬂ
(E) Not attempted Bk
Area from which escape is possible in
one direction only is

(A)
(B)
(€)
(D)

exit point
assembly
dead end

riser

(E) Not attempted

-15-
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64. garer Hr I oA | el @ 5
a7 TERAT 3T il B IO 8 7
(A) Tt afsama
__(By Toewm
(C) feeax
(D) 3T g
(E) 3T5Tiea

65. T 91 TG wiamE w0l g
FHEHT T TR B
(A) FEFT
o () FEfRfm
g, (D) TR
(E). anmafia

66. "ve fafeen wis e hew F IgER
— SHWd smegddl % g9 H % i
TR |
(A) TretTees

By e
(C) 3T
(D) FEmE ¥
(E) 3T9anfia

67. T8 &3 9 9 Tk ey F g7 OYF 2,

a8 &
Any T g

(B) 7=

(C) 2T T=

i

(D) T

(E) 3T



Guest
Rectangle


68.

69.

70.

72.

[n Python function returns
an integer that specifies the current
position of the file object in the file,
(A) seek() (B) tell()

(C) read|) (D) write()

(E} Not attempted

If |x-2|<1, then
(A) xe(-1, 3)
(B} x=[-1, 3)
(C} xe(l, 3)
(D) xe[1, 3]
(E) Not attempted

20
B

According to the 2011 census report,

the women literacy rate in India is
(A) 74.3% (B) 75.4%

(C) 82.14% (D) 65.46%

(E) Mot attempted

TAC stands for

(A) Traffic Access Control

(B) Traffic Advance Committee
(C) Tariff Advance Committee
(D) Tariff Advisory Committee
(E) Not attempted

system provides protection for
buildings from internal fire.

(A) Drencher -

(B) Sprinkler

() Co,

(D) Hydrant

(E) Not attempted
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68. TEEH H FaH U Uik Sa
2 S BT H BIe Jiestee 1 wEa fRufy
I fafdse w@r 8 |
(A) seek() (B) tell()
(C) read) BT write()
(E) 3Tomie '
69. IR |x-2|<18, 4
(A) Xe(-1,8) 1.» = *
L/fﬁ:ei—l, 3 AT AL
©) xe(1,3) B 3

(D) xe[1, 3]
(E) Frvaifad

70. 2011 H FIOAT RS F AR IRG §
Hieet aRar o ol 8 7

E}% (&) 74.3% (B) 75.4%

mEim (C) 82.14% ¥ nga%

(E) 319nfia
2l

T1. TAC = Adeid

(4) 3t VHEE Hgr
(B) ¢I% 3Tgar Hffe

eI Hife
( F SRR Hfyfe
(E) Frsamfeg

72. oIt Hrafes 3 | 39Ra @
GUaT Yo A g
(A) $
/(g(%lﬁm
(C) co,
(D) BTEZE
(E) 39
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yesusay®T T

Chernical formula for oxygen is
(A) O, (B) CO

(C) CO, (D) H,

(E£) Not attempted

Which of the following is type of
synthetic rope ?

(A) Manila

(B) Nylon

(C) Cotton

(D) Sisal

(E) Not attempted

A vertical pipe installed in a building
for fire-fighting purposcs, that is
permanently charged with water 1s
Okt

'f..;..-H

EsEE

(A) Wet rising main
(B) Total flooding
(C) Dry rising main
(D) Local application
(E) Not attempted

AR — AFFF used on fuel fires containing

(A) Wood (B) Metal

(C) Electrical (D) Alcohol

(E) Not attempted

Full form of MCRB is

(A) Miner Control Board

(B) Miniature Control Breaker
(C) Miniature Cireuit Board
(D) Miniature Circuit Breaker
() Not attempted

_17-

CG - F023

75. HTEEEE T 3l
] oz (B) CO
[C) C (D) H,
-'T_J;”“ (E) ST
74. Tofafzs § @ $H- G9fs w=f =
BEIE
(A) BT
By T
(C) =p9m™E
(D) BTEES
(E) 79Ty
75. s vl & fore ww sana § wenfig
U dadd 9139 o I 8 el 59 8 = e
j‘:}%, Tw_ BRI
) 92 wEfEm i
(B) $< 9T
(C) $18 Tt 3
(D) T ST
(E) 3Twanfg
76. AR-AFFF ST Y2 ERCDIRC G
8, 3 E’lmqqg?:w
(A) TS ~ (B) g *

77. MCB %1 90 &y 2

(C) ferga ~ sTeFEa
(E) I il

(A) WER FHele i
B) TR 2 3=
(c) faFe=R affe &1

W%ﬁ?ﬂ
(B) ST
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78.

79.

80.

81.

82.

When any building is used for more
than one type of occupancy is called
(A) Mixed occupancy

(B) Light ﬁazard occupancy

(C) Hazardous occupancy

(D) Storage buildings

(E) Not attempted

The temperature at which a liquid
boils and becomes a vapour is the
(A) Melting point

(B) Boiling point

(C) Freezing point

(D) Density By
(E) Not attempted EEHE

A modem’s transmission speed (the rate
at which it can send data) is measured in
(A) Hertz

(B) Bytes

(C) Bits per second (bps)

(D) Watts

(E) Not attempted

Which number will come in the place
of question mark ?

7,26, 63, 124, 215, 342, ?
(A) 391 (B} 481

(C) 421 ~ (D) 511
(E) Not attempted

Utility rope for raising or lowering

mMOVINg parts of extension ladder is
called

(A) Hardline (g) yajyard
(C) Wirerope () pyiler
(E)} Not attempteq
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78. && TRdl sHRG =1 3w TS T Alus
g % i % fare fan s &, A SR
___ w@agl

[ AT
(B) Bewhl Gall AT
(C) TS AT
(D) HERY T
(E) TR

79, dg d9aH Y W HiE W I & 3
arrﬂ:[a:ram%,aﬁ,_ﬁm%l
(A) T
B T
(C) femms
(D) ®Fed
(E) HATATRIG

80. U Hiew H = nfd (g @ w 78 <@
HeEAT 2) HI o Trqr T 2 |
) Tt
(B) ®Tg¢H
H‘%ﬂ%ﬁ{bps]
(D) F1
(E) 3rsei

wﬁa%mmﬁq-@mmﬁ ?

o

¥ 36, 63, 124, 215, 342, ? b~

(A) 391 (B) ok
©) 421 )Hél 1

(B) 37nide
82. mﬁqﬁa%tﬂﬁnq@ﬂﬁwwﬁ
g R O F R RRE AR
g‘-h. W;?T%|
“ o (A) BE T .(B) BHTE
€ mwh - pfgew
(B} 37ifirg
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Foarn extinguisher can either gas

cartridge type or t_;:-p%
b

|

(C) Cylinder pressure |'l

(A) Stored pressure
(B) Chemical pressure

(D) Hydraulic pressure
(E) Not attempted

19.5% oxygen level is considered as a
condition.

(A) Enriched

(B) Fainting

(C) Normal

(D) Minimum safe

(E) Not attempted

In the wet riser system, size of the vertical
pipe should not be less than min
internal diameter.

(A) 65 mm
(B) 100 mm
(C) 50 mm
(D) 74 mm
(E) Not attempted

What is the full form of TEC ?

(A) Typical Environment Control
(B) Ternary Eutectic Chloride

(C) Tender Equipment Commission
(D} None of these
(E) Not attempted

na

{0
'f..
[ ~E=

/ﬁ(’ET/ Resistance

(D) Voltage

Volts = Amps %
(A) Ohms
(C] Watts
(E) Not attempted

CG - F023

83. W 37T g Srel AT Al TE Wi FwR
7 Weh{ o1 & Tkl 21
(&) Tufed gsma
By Gl gE e
) Tafeest gamE
D) Eggifer g
(E) Aw=mfea

84. 19.5% 3FigEl= T &I

HHET SAT6T 21

(A) HqEH
(B) Wi=am

_ feufa

ek
i
=R =]

(D) =AeH gifta
(E) HATITRT

85. a2 WsR T § gffmper gy =1 3R
Rﬂmﬁﬁﬁmmﬁmqﬁﬁmmﬁqi
65mm 2.5 Im

} 100 mm 4 i~
(C) 50 mm 2
(D) 74 mm 3.
(E) TSI

86. TEC (&¥et) 1 yof =g oy w2 7
(4) TETHS SR ot
(B) = e weirse
_AET Est swgutie Fitem
(D) 37 & g 7
(E) 3uariae
Vo
87. dice = THT «
Ay ST
(C) =
(i) aToETfin

v :",;‘I:;;imﬁ

(B) e
(D) et

=19-
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88.

89.

90.

92.

Sparge pipe is useful to protect

(A) Engine from heating

(B) Tyres from ground fire to water
the road

(C) Vehicle from radiant heat

(D) Hoses from damaging

(E} Not attempted

Fire involving combustible metals are

classified as a class fire.
(A) A (B] C
(C) B (D) D

(E) Not attempted

Hydrostatic pressure testing is required
for water extinpuishers in every
years.

(A) 3
(C) 5
(E) Not attempted

(B) 8
(D) 10

What is the purpose of system
software ?

(A] To create documents and
presentations

(B) To browse the internet and
access web content

(C) To manage the computer’s
hardware resources

(D) To edit photos and graphics
(E) Not attempted

This lake is also called as Ottu reservoir
(A) Sukhna lake

(B) Jui canal

(C) Dhanur lake

(D) Diwanawala lake
I:E] Not atiempted

BEAE
§

-
= 7R [=]

91.

92.

20-
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CG - FO23
g8, Wi UEY___ @ e % o
Iy 2
(A) #ifem & oM
(B) TF W U % forg ST s # 2R
(C) etz e & are
__pf 3 1 w0 2R A
(B) sw=TfEa
89, oMU YT © ISt AFTH Avl
AW % w9 ° Teran wmar 2
(A) A (B) C
(© B PFD
(E) 3roaféd
90. WEH Tul T Wel AT %

fou e gum gfigu 6 smEwEED
a2l

(B) &
(C) 5 (D) 10

(E) ruantad

oz diteaat &1 # sew 2 7
(A) gEmER 3 T =9 % fo
(B) 2T T 3R 99 Hee e T &

fem
(C) R FIEATR TETERT W FE B
% ferm

(D) WIEI 31T mithes % ufge & forw
(E) 3roarfed

79 3ot i 3itg e ff wed 8
(A) HEAT = %

(B) T8 et

(C) & e

D] ST 3w

(E) 3Tgaie
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1s a composite gland
h acts as both exocrine and
erine gland.

Adrenal gland
Thymus

Pancreas
Parathyroid gland

Not attempted
_is formed when immiscible
1ids are agitated together and one
he liquids is dispersed throughout
 other.

Dilution

Smothering

i @406
Emulsion S
Atmospheric pressure RERdD

Not attempted

e buckets are painted with
OF .

Bright Red

Wooden

Steel

Maroon

Not attempted

oute forming part of the means of
ape from any point in a building to
nal exit is called

Fire door

Fire lifts

Fire exit

Escape route

Not attempted
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93. ws s Ti 3 7
S B |
(A) Ugae 7
(B) UTsHE

AT
(D) FuyrRise ufy
(E) 39amad
94. __ d9 =qa1 8 99 rfhyviiy o th
a2 3 € # SR uw @ gEe § e
ST 2 |
(A) SRegIH
i) e
(C) THeIH
(D) aTgHEe g
(E) 3w

95. 3 i Fifcedt T H T ST 8 |

PR cae
(B) =gl
(C) T
(D) A%

5 (E) ST

225
06.

foeii0
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Fee % arem &1 fagr w3 919 A0 B
a1 ST 2 |
(A) HBRR SR
(B) B ferse

AT Tt

Www

(E) ST
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97. A pre-mixed foam installation storage

99,

100.

tank designed for maximum working
pressure of

(A) 10 bars i
(B) 12 bars i
(C) 7 bars &
(D) 20 bars

(E) Not attempted

Which type of fire extinguisher must
not be used in case of electrical fire ?
(A) Dry powder extinguisher

(B} CO, extinguisher

(C) Foam extinguisher

(D) FM 200 extinguisher

(E) Not attempted

Which of the following is a common
type of auxiliary memory ?

(A) Cache memory

(B) Solid State Drive (SSD)

(C) Random Access Memory (RAM)
(D) Magnetic tape

(E) Not attempted o ';
Dainik Haribhoomi is the 1 National
Newspaper published from

district of Haryana,

(A) Hisar

(B) Gurugram

{C] R{Jhtﬂk

(p) Kaithal

(®) Not attempted
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(B) CO, AT 31 d1e1
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